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Rešitve

1. naloga

F (s) = s+1
s2(s2+9)

= As+B
s2

+ Cs+D
s2+9

s+ 1 = (As+B)(s2 + 9) + (Cs+D)s2

s+ 1 = s3(A+ C) + s2(B +D) + 9As+ 9B

B = 1
9
, A = 1

9
, C = −1

9
, D = −1

9

f(t) = 1
9

(
1 + t− cos 3t− 1

3
sin 3t

)

2. naloga
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√
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x2u′′ + xu′ + (x2 − 0)u = 0

u = AJ0(x) +BY0(x)

y =
√
x
(
AJ0(x) +BY0(x)

)



3. naloga

uy = v
xv′x = v + y
dv
v+y

= dx
x

ln(v + y) = ln x+ lnC
v + y = Cx

uy = C(y)x− y
x = 1 → C(y)− y = y
C(y) = 2y
uy = 2xy − y

u =
∫
(2xy − y)dy = xy2 − y2/2 + C(x)

y = 1 → x− 1
2
+ C(x) = x

C(x) = 1
2

u(x, y) = xy2 + 1−y2
2

4. naloga

2y − 2x− (−2y′)′ = 0
y′′ + y = x
λ2 + 1 = 0
λ1,2 = ±i
yh = A cosx+B sinx

yp = Cx+D
Cx+D = x
yp = x

y = A cosx+B sinx+ x
x = 0 → A = 2
x = π

2
→ B + π

2
= π

2
→ B = 0

y = 2 cos x+ x



5. naloga

E(X) = 1
36

(
1 · 1 + 2 · 3 + 3 · 5 + 4 · 7 + 5 · 9 + 6 · 11

)
=

1
36

(
1 + 6 + 15 + 28 + 45 + 66

)
= 161

36

E(X2) = 1
36

(
1 · 1 + 4 · 3 + 9 · 5 + 16 · 7 + 25 · 9 + 36 · 11

)
= 791

36

D(X) = E(X2)− E2(X) = 791
36
− 1612

362
= 2555

1296


